W /\ D I Please Note: A qualified structural engineer Instruction Sheet
— should be consulted prior to mounting an

ANTENN A antenna on a tower or support structure. 390993 Rev. B

BDH2024
2.4-2.5 GHz BI-DIRECTIONAL HELICAL ANTENNA

BDH2024 M odel Shown

. . ——Optional cm-1 ceiling Mount

1/4-20 nuts, washers
e /
Mount / "/

10-32 nuts, lock washers

y

Figure 1

ASSEMBLY

1. Use #10-32 nuts and lock washers to attach mount to antenna see Figure 1.
2. Install CM-1 Ceiling Mount at location where the antenna will be mounted.
3. Use #1/4-20 nuts and washers to attach steel mount to CM-1 Ceiling Mount see Figure 1.

W /\ > — 29 Sharp Rd,

Brantford, Ont., Can., N3T 5L8
A NTENN A www.wadeantenna.com




